Quick Review
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When a number is multiplied by itself, the result is a square number.
For example, 9 is a square number because 3 X 3 =9,

A number is a square number if it has an odd number of factors.

For example, to check if 36 is a square number, first create a list of the factors of 36 in
pairs as shown:

1 X 36

2 X 18

3X 12

4 X9

6 X6

Write these factors in ascending order, starting at 1:

1,2, 3,4, @, 9,12, 18, 36 - Anumber with an
even number of

There are nine factors of 36. This is an odd number, fagIESERRLa 5 . /

? square number._
so 36 is a square number. .
In the ordered list of factors, notice that 6 is the middle number, and that 6 X 6 = 36.
6 is called the square root of 36.

We write the square root of 36 as V36

Squaring and taking the square root are inverse " To find the square of
operations. a number mdltiply the
So, V36 = 6 because 6 = 6 X 6 = 36. " number by tself

This means V6* = 6

|
You can find a square root using a diagram of
square. The area is the square number.
36 square g .
. . itk /36 = 6 units
The side length of the square is the square root
of the area. A\
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souare root of a

. numben, model with a
N\, square, or make a list
"o, Of factors,

\/3; = 6 units




1. List the factors of each number in ascending order. Which numbers are square numbers?
For each of the square numbers, find the square root.

a) 196:

b) 200:

c) 441:

2. For each square, state the square number and the square root.

a) . b)
16 square 2 square
units Lnits
square number square number
square root square root

3. Complete the sentence for each square root. The first one has been done for you.

a) V25 = 5 because 5 = 25 b) V49 = because =

c) V100 = because = d) V144 = because =
4. Complete each sentence. The first one has been done for you.

a) V16 = 4 because 4* = 16 b) = 8 because 8 =

(4] = 9 because = d) = 11 because =

5. Match each number in column 1 to the number that is equal to it in column 2.

a) V9 ) 9

b) 81 i) 9
Q ¥ iii) V81
d) 9 iv) 3

6. Find each square root.

a) V64 = b) V400 = ¢ V225 = d) V324 =

7. Find the square root of each number:
a) 5= b) 8= 0 16*= d) 54’ =

8. Find the number whose square root is
a) 17 = by 22 c) 30




